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Sr Questions Answers Choice

1 For stability of prices in the country:

A. Fast means of transportation are
very necessary
B. Means of transport are not
needed
C. Means of transport are absolutely
unnecessary
D. There is no importance of means
of transport

2 For linkage between urban & rural areas, means of transportation:
A. Are very necessary
B. Are not necessary
C. Are necessary to some extent
D. Are absolutely not necessary

3 Internal and external development of trade of any country:

A. Is not possible without excellent
transport means
B. There is no need of means of
transport
C. Means of transport has very little
value
D. Means of transport have enough
weight

4 It could be very easily accessed, by the density of means of transportation, that:
A. Country is developed
B. Country is undeveloped
C. Country is backward
D. Country is not undeveloped

5 For cultural, economic & industrial development and political stability of country:

A. Means of transportation must be
modern and fast
B. Presence of means of transport
are not necessar
C. There is no role of means of
transportation
D. There is very nominal role of
means of transportation

6 According to population census of 1998, urban population ratio of Islamabad is:
A. 65.6 percent
B. 70.2 percent
C. 50.5 percent
D. 90.3 percent

7 According to population census of 1998, rural population highest ratio is:
A. In N.W.F province
B. In Sindh province
C. In Punjab province
D. In Baluchistan province

8 According to populated census of 1998 of Pakistan, which province possesses highest
urban population ratio?

A. Sindh province
B. Baluchistan province
C. Punjab province
D. N.W.F province

9 According to 1998 population census of Pakistan, percentage of rural population was:
A. 67.5 percent
B. 70.2 percent
C. 75.5 percent
D. 78.0 percent

10 According to 1998 population census of Pakistan, percentage of urban population was:
A. 23.5 percent
B. 35.0 percent
C. 40.5 percent
D. 45.5 percent

11 According to 1981 population census of Pakistan, percentage of rural population was:
A. 71.7 percent
B. 75.0 percent
C. 70.0 percent
D. 65.0 percent

12 According to 1981 population census of Pakistan percentage of urban population was:
A. 28.3 percent
B. 25 percent
C. 20.5 percent
D. 35 percent

13 According to 1981 population census of Pakistan was:
A. 84.25 million persons
B. 90.5 million persons
C. 75.5 million persons
D. 110.2 million persons



D. 110.2 million persons

14 According to 1972 census, population of Pakistan was:
A. 65.3 million persons
B. 100 million persons
C. 75.9 million persons
D. 105 million persons

15 In which year, population of Pakistan was 42.9 million persons?
A. 1961
B. 1972
C. 1951
D. 1981


